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Mathematics - IV

Chapter 1 : Revision
Exercise 1A

1. (a) 4260 (b) 2846 (c) 7275 (d) 9684
2. (a) Three thousand seventy five
(b) Three thousand eight hundred five
(c) Four thousand seven hundred twenty six
(d) Nine thousand four hundred seventy
3. (a) 5357, 5367,5377  (b) 1450, 1500, 1550
(c) 3856, 3858, 3860  (d) 9123, 9128, 9133
4. (a) 3985 (b) 4652
5. (a) 3568 (b) 8139
6. (a) 7000 +0+70+4 (b) 8000 + 600 + 0 + 3
7. (a) 8320 (b) 9323
8. (a) 4039, 4450, 5518, 6216, 7016
(b) 5139, 9135, 9153, 9513, 9531
9. (a) 6852, 6825, 6582, 6528
(b) 7584, 7548, 7485, 7458

10. (a) 3 (b) 60 (c) 8000 (d) 100

11. () 9507, 9509 (b) 8989, 8991
(c) 4390, 4392 (d) 8119, 8121

12. (a) XVII bV (c) XXVIII (d) XXXI

Exercise 1B

L@ 5534 ® 55§33 © 5977

2994 3887 4932

+883 +608 +387

7411 8378 9236




2. (a) 9253 (b) 6345 (¢) 6007

6706 ~ 2785 ~2928
2547 3560 3079
3. (a) 95 (b) 83
x 27 x39
665 747
190 x 249 x
2565 3237
(¢) 6)3456(576 (d) 5)1995(399
-30 -15
T 45 T 49
42 45
36 45
-36 —45
X X
4.9 L o® L © 32 @« 3
4 8 8 5
5. 9+8 _ 17 (b) 19+5=ﬁ
19 19 33 33
(c) 13—421 (d) 26—5:A
17 17 29 29
6. (a) > (b) > (c) > (d)>
i P 4 P z P
7@ 13 25 ®) 133 25 ©) 379 25
+29 30 379 85 ~199 75
42 . 55 +102 . 50 179 . 50
615. 60
d kg g (© mem () 1 ml
301 20 124 50 565 75
~78 75 x 8 x 9
222 .45 996 . 00 5091 . 75

(g) Do yourself (h) Do yourself (i) Do yourself



8. (a) 366 (b) 29 (c) first (d) 31 (e) 52
Exercise 1C

1. (a) 9999 (b) 1000 2.9

3. 1048 4. 8632

5.9913 — 8684 = 1229 6. 7487 — 6703 = 784
7. Votes received by candidates 4312
3919
Votes polled together +1912
10143
8. Monthly income of Pankaj 3250
Monthly income of Sanjay less by -575
2675
Total income of Pankaj & Sanjay 3250
+2675
5925

9. Bulb produced in 7 days = 4515
Pulb produced in 1 day = 4515 + 7 = 645 bulbs
10. Cost of one soap =% 15.75
Cost of 12 such soaps = 15.75 x 12 =% 189

Chapter 2 : Number Notation (Large Numbers)

Exercise 2A

1. (a) 38,546 (b) 6,27,485 (c) 2,835 (d) 67,84,237
(e) 48,53,546 (f) 72,74,380
2. (a) 12,636 (b) 4,68,209 (c) 72,05,008
(d) 67,42,232 (e) 4,00,002
3.(a) 725,364 = Seven hundred twenty five thousand three
hundred sixty four
(b) 804,058 = Eight hundred four thousand fifty eight

(c) 7,900,845 = Seven million nine hundred thousand
eight hundred forty five



(d) 6,272,945 = Six million two hundred seventy two
thousand nine hundred forty five

(e) 22,445,684 = Twenty two million four hundred forty
five thousand six hundred eighty four

(f) 34,359,876 = Thirty four million three hundred fifty
nine thousand eight hundred seventy six

4. (a) 302,236 (b) 600,042 (c) 10,437,109
(d) 102,000,947 (e) 64,000,009
Exercise 2B
1. (a) 20,000 (b) 7,000 (c) 700,000 (d) 4000,000
2. Do yourself

3. (a) 10000 (b) 200000 (©) 3000000
5000 30000 900000
200 900 40000
90 +5 6000
+4 230905 200
15294 10
+8
3946218
4. Predecessor Successor
(a) 86547 86549
(b) 729148 729150
(c) 3867290 3867292
(d) 4642979 4642981
Exercise 2C
1. (a) < (b) > (c) < (d) =

2. (a) 5674, 6395, 7943, 9876, 9886
(b) 555672, 565781, 790005, 790050, 5507806
3. (a) 105685, 99384, 77859, 35672, 34428
(b) 750762, 750762, 750276, 705972, 705672
4. (a) 3,65,193 (b)3,25,195 5.10489



Chapter 3 : Addition

Exercise 3A

l.(a) T-Th Th HTO () TTh Th HTO
o O O o O OO0
4 3 676 8 476
+2 7 432 +8 7 5438
7 1 106 6 024
(¢ T-Th Th HTO (d T-ThTh HTO
3 4 598 7 986
+2 6 742 2 405
3 5 623 +3 0 671
9 6 963 1 062
() L T-Th Th HTO (f) L T-Th Th HTO
2 5 6 348 4 6 9 004
7 2 839 4 2 831
+ 5 240 + 5 3 672
3 3 4 427 5 6 5 507
2.(a) 74939 (b) 243567
37225 72984
+29848 9999
142009 +4256
330806
© 189984 %) 44444
345678 4440
248354 34
+44 +8504
784060 57422
[OXOXO)] OO @
3.() 6935 (b) 32829
2469 13323
+247 +25145
9651 71297



1.

Exercise 3B

367485
+34245
401730

. Money deposited by businessman

Money deposited after two months
Total money deposited

. (a) No. of males in town

No. of females in town
Total population

. Cost of sofa

Cost of dining set
Total money paid

. Population of 1st block

Population of IInd block
Population of IIlrd block
Population of IVth block
Total population of colony

. No. of Hindi books

No. of English books
No. of Maths books
Total no. of books

. Ajay’s income in 2018

In 2019 income increased by
Income in 2019

Total Earning in two years
2018 =
2019 =

224567
+336749

61316

45672
+35654
81326

335624
+324725

260349

32675
24754
37608
+20505
115542

28567
45674
+5678
79919

240000
+335680

1275680

240000
+275680

515680



8. (a) 85994

+240885
326879
9. Persons visited zoo on
Sunday
Mond 35678
onday 45729
Tuesday +32678
Total no. of persons visited 114085
10. 48326
+85014
133340 is the bigger number
Chapter 4 : Subraction
Exercise 4A
1.(@ T-Th Th HTO () T-Th Th HTO
5 4 327 9 2 342
-2 6 978 -5 4 568
2 7 349 3 7 774
(¢) T-Th Th HTO (d) T-Th Th HT O
8 5 863 4 2 562
-4 2 794 -3 1 998
4 3 069 1 0 564
(¢) T-Th Th HTO 63) T-Th Th HTO
4 2 634 8 5 674
-2 4 564 -4 8 935
1 8 070 3 6 739
2.(a) 56742 b) 86074
-39854 -73928
16888 12146



(c) 88453 (d) 359674
-35986 -248996
52467 110678

3. 48321 4. 945672 S. 100000
-25675 -84567 -55555
22646 861105 44445

6. 24356 985327
+35714 -60070
60070 925257

7. 70000 2400000
-16200 -1314000
53800 1086000

8.(@ T-Th Th HTO (b) L T-Th Th HTO
7 9 705 2 0 0 005
-5 8 300 - 5 3 467
2 1 405 1 4 6 538

Exercise 4B

1. Rahul’s earning per month 725560

Monthly expenditure ~¥15780

His savings per month 79780

2. Money with Arpit 647000

Spend on buying car -3¥586394

Money left with Arpit 60606

3. Milk Supplied to cities 253401

+173461

Total milk supplied in a day 426861

Milk produced in a day 506701

Milk supplied 426861

79841

Milk left with the dairy



4. Total population of town 135748

No. of mates in town -57894
No. of females in town 77854
5, 80456 6. 72345
-39984 -26745
404 72 isthe other number 45600
7. 89542 8. 245362
—59382 should be subtracted —75983
30160 169379
9. Cost of flat
_ _ 984300
Money with Rinku 7894980
Money needed move to buy flat 89320

10. Money deposited by Suresh

945674
Money withdrawn for expenses 7765384
Balance in his a/c 7180290
Chapter 5 : Multiplication
Exercise SA
1. (a) 215 x4 =860 (b) 206 x 5 =1030
(c) 184 x 3 =552 (d) 506 x 6 =3036
(e) 394 x 7 =2758 (f) 613 x 8 =4904
2.(a) 198 (b) 153 (c) 1530
(d o0 (e) 28 () 1150
3.(a) 15 (b) 7 (c) 8 (d) 25
Exercise 5B
1. (a) 480 (b) 3200 (c) 6400 (d) 21200

(e) 3125000 (f) 4840000 (g) 303000  (h) 354000
2. (a) 242 (b) 100 (c) 195000  (d) 400

ao



235
x16
1410
235 x
3760
(d) 256
x 18
2048
256 x
4608

1. (a)

® 555
x546
3330
2220x

2775 xx
303030

() 4040
x133

12120

12120 x
4040xx

537320

Exercise 5C

1. No. of bricks in one truck
No. of bricks in 235 truck

b)) 475 (0 418
x25 x 42
2375 836
950 x 1672 x
11875 17556
() 1218 6 254
x 24 x238
4872 2032
2436 x 762 x
29232 508 % x
60452
(h)y 5474 () 5760
x 240 x140
0000 0000
21896 x 23040 x
10948 xx 5760 x x
1313760 806400
k) 4990 () 1321
x356 x3214
29940 5284
24950 x 1321 x
14970 x%x 2642 % x
1776440 3963 xxx
4245694
Exercise 5D

2750

x235

13750

8250 x

5500 x x

646250 bricks



. No. of days in June 30
No. of hours in 1 day x24

Total no. of house in June 120
60 x
720 hours
. No. of paper in one packet 144
No. of sheets in 25 packets x25
720
288 x

3600 sheets

. Weight in one box = 98 kg
Weight in 188 boxes = 98 x 188 = 18424 kg
. No. of students in school 1154
fees paid by each student ¥x350
Total monthly collection 0000
5770 x
3462 xx
403900
. Mobile sets produced in 1 day 309
Mobile set produced in 275 days X275
1545
2163 x
618xx
84975 sets
. No. of books in carton 16
No. of copies of books 25

Total no. of books in one carton = 16 x 25 = 400 books
No. of books in 160 cartons = 160 x 400 = 64000 books

a»



8. Loaves of bread baked in 1 day 1657

No. of loaves baked in 1 year

(1 year = 365 days)

x365
8285
9942«
4971 xx
604805

Chapter 6 : Division

1. (a) 3)801(270
-6

21
=21

0

Exercise 6A

Q=270,R=0,D=3

=270 x 3 =810
() 9)9354(1039
-9

BT
27
84
—81

3

Q=1039,R=3,D=9
=1039 x 9 +3 =9354

(b) 8)7380(922
~72
18
16
20
-16

4

Q=922,R=4,D=38
922 x 8 + 4 = 7380

(d) 7)8503(1274
-7

15
—14
10
-7
33
28
05

Q=1214,R=5,D=7
1214 x 7 + 5 = 8503



(©  6)2592(432 ®  7)a158(594

-24 -35
19 65
—18 63
12 28
~12 28
X X
Q=432,R=0,D=6 Q=594,R=0,D=7
=432 x 6 = 2592 594 x 7 = 4158
(8 5)62215(12443 (h) 7)25431 (3633
-5 -21
12 44
-10 42
22 23
—20 —21
21 21
-20 -21
15 x
—15 Q=3633,R=0,D=7

X

3633 x 7 =25431

Q=12443,R=0,D=5 (i) 6)71552(11925
= 12443 x 5 = 62215 -6

1
— 6
55
4
15
12
32
-30

2

Q=11925,R=2,D=6
=11925 x 6 +2 =71552

ao



0) 5)76425(15285
-5

26
—25
14
—10 Q=15285,R=0,D=5
42 15285 x 5 = 76425
— 40
25
-25
X
2. (a) 251 (b) 1 (c) 1234
(@) 1 (e)0 (H0
Exercise 6B
L.(a) 12)957(79 (®) 15)850(56
—84 ~75
117 100
108 -90
9 _10
Q=79,R=9,D=12 Q=56,R=10,D =15
=79 x 12 + 9 =957 56 x 15 + 10 = 850
(¢) 21)7506(357 (d) 52)9005(173
- 63 -52
120 380
—105 —364
156 165
—147 —153
9 _12
Q=357,R=9,D=21 Q=173,R=12
=357 x 21 + 9 = 7506 173 x 52 + 12 = 9005



() 37)5083(137 (H)  72)25542(354

—37 —216
138 394
111 ~360
273 342
259 288
14 54
Q=137,R=14,D =37 Q=354,R=54
=137 x 37 + 14 = 5083 354 x 72 + 54 = 25542
(8) 68)82576(1214 (h) 26 ) 44152 ( 1698
—68 —26
145 8T
-136 156
97 255
- 68 234
296 212
—272 —208
24 04

1214 x 68 + 24 = 82576 1698 x 26 + 4 = 44152

2.(a) 46)8853(192 (b) 25)8646(345

—46 =75
425 114
—414 —100
113 146
- 92 —125
21 21
Q=192,R =21 Q=345,R=21



(¢) 44)9837(223 (d) 75)33198(442
-88 -300
103 319
-~ 88 -300
157 198
-132 -150
25 48
Q=223,R=44 Q =442, R =48
(©) 68)70434(1035 (® 18) 96008 (5333
-68 ~-90
243 60
—204 —54
394 60
—340 —54
54 68
—54
12
Q=1035R =54 Q=5333,R=12
Exercise 6C
8342 816
1. (a) 0 Q=834,R=2 (b I—OQ—81,R—6
20042 6301
¢) 204 Q=200,R=42 (d) 2=22= Q=6,R=301
()100Q ()1000Q
54321 55913
027 Q=5432,R =1 72 Q=559,R=13
(e) 0 Q (H 100 Q
31323 55663
2222 0Q=31,R=323 (h) 2222 Q=556,R =63
(2) 1000 Q (h) 100 Q

Exercise 6D

1. (a) Crates loaded in truck 92
No. of trucks needed to load 11592 crate
11592 + 92 = 126 trucks



2. 14049 + 21 = 669
3. No. of trees in garden 4368
No. of trees in each row 13
No. of rows = 4368 + 13 = 336 rows
4. No. of apples = 13612
No. of persons = 43
No. of apples each person get = 43)13612(316
—129
71
—43

282
No. of apples each person get = 316 apples —758

No. of apples remain undivided = 24 24

5. No. of biscuits in one packet = 24
No. of biscuits = 35644

No. of packets required 24) 35644 ( 1485
—24
116
96
204
192
124
No. of packets = 1485 -120

No. of biscuits left = 4 04

6. No. of mangoes bought 8 5394 89)85173(957

No. of mangoes rotten -221 — 3801
Remaining mangoes 85173 507
— 445
No. of boxes = 89 623
—623

No. of mangoes in each box = 957

X




7. Greatest number of 6 digits 999999

Product of 12 x 8 96)999999( 10416
-96
399
—384
159
— 96
639
— 576

63

8. Money with the man T 271355 7271355 (38765
No. of sons & daughters 4 +3 =7 —21

Money each child get =¥ 38765 61
— 56
53
- 49
45
- 42
35
- 35

X

Q=10416,R = 63

Chapter 7 : Unitary Method
1. Cost of 12 pencils 324
Cost of 1 pencils 24+12=2
Cost pf 144 pencils = 2 x 144 =3 288
2. Train fare for 3 passengers I 540
Fare of 1 passenger = 540 + 3 =% 180
Fare for 5 passengers = 180 x 5 =3 900

3. Cost of 15 kg vegetable = 3 840
840 x 5

Cost of 5 kg vegetables = 15 - % 280



4. No. of cycles produced in 12 days = 3000

No. of cycles produced in 30 days 30001—;30 cycles

5. 45 buses can carry 2340 passengers

2340 x 36
No. of passengers 36 buses can carry = T :pallsgs7a2g .

6. No. of boxes required to pack 300 cup plates

No. of cup plates that can be packed in 20 boxes

= %) = 240 cup plates

7. Distance covered by bus in 5 hrs = 240 km
Distance covered in 7 hrs = % =336 km
8. Cost of 12 pencils =% 30
30 x 144
12
(1 gross = 122 = 144) Rs 360

9. Tution fees paid by 18 boys =3 4410
. : 4410 x 45
Tution fees paid by 45 boys = BT X 11025

10. Load carried 60 quintals by 2 canters

Cost of 144 pencils =

1 tonne = 10 quintal

18 tonnes = 18 x 10 = 180 quintals
180 x 2

Canters needed to carry 180 quintals = 50

= 6 canters

Chapter 8 : Multiples and Factors

Exercise 8A

1. (a) 16, 24, 32, 40, 48 (b) 26, 39, 52, 65, 78
(c) 36, 54, 72, 90, 108 (d) 40, 60, 80, 100, 120
2. (a) 24, 30, 36 (b) 44, 55, 66
(c) 60, 75, 90 (d) 76, 95, 114

GD



3.(a) 12,24 4. 56, 63, 70

5. (a) Even (b) Odd (c) Even
(d) Odd (e) Even (f) Odd
6.(a) 2 (b) 1 (c) 98 (d) 101 (e) 99
Exercise 8B
1. (a) factors )9, 8 (c) 54 (d) 11
2. 9)1089( 121 3. 19)1558(82
-9 —152
BT -~ 38
-19 -38
9 X
-9
X
Yes, 9 is factor Yes, 19 is the factor
4. (a) Yes (b) No (c) Yes
5.72 = 1 x72 2 x 36
3 x24 4 x 18
6 x12 8 x9

Factors of 72 =1, 2,3, 4,6, 8,9, 12, 18, 24, 36, 72
6. 108 1 x 108 2 X 54

3 % 36
4 x 27 6 x 18
9 x 12
Factors of 108 =1, 2, 3, 4, 6, 9, 12, 18, 27, 36, 54, 108
7.27 = 1x27 3x(9=1,3,9,27

8.36 = @2, 3,4,6,9,12

Exercise 8C

1. (a) No (b) Yes (c) Yes (d) No

(e) No (f) Yes (g) Yes (h) No
2. (a) Yes (b) Yes (c) No (d) No
3.(a) Yes (b) Yes (c) Yes (d) No

D



4.(a) 5436 =5+4+3+6=18

(b) 5689 =5+ 6+ 8 +9 = 28
(c) 3835=3+8+3+5=19

(d 1010=1+0+1+0+1=3

5.(a) 3454 =3+4+5+4=16,
Divisible by 2 but not by 3

(b) 4323 = No, Not divisible by 2

Yes

No
No
Yes
No

4+ 3+ 2+ 3 =12 = Divisible by 3
(c) 8007 = Not divisible by 2
8 +0+0+7=15=Divisible by 3

(d) 5028 = Divisible by 2

5+0+2+8=15, Divisible by 3
Exercise 8D

1. () 2,3,5,7, 11, 13, 17, 19, 23, 29

(b) 53, 59, 61, 67

2.(a) 4,6,8,9, 10, 12, 14, 15, 16, 18, 20
(b) 32, 33, 34, 35, 36, 38, 40, 42, 44, 45, 46, 48, 49
(c) True (d) False

3. (a) True (b) False

4.(2) 2| 48
24

EESIESIIS

(b)

2| 50
5|25
5

2x2x2x3x5



() 2840
2420
2[210
3105 2x2x2x3x5x7
HES
7| 7
RS

Exercise 8E
1. (a) 6 and 15 (b) 13 and 39

6=1,2,3)6 13=3x1
15=1,3)5, 15 39=(13x3
HCF =3 HCF = 13

(c) 21 and 35 (d) 75 and 125
21=1,3,0)21 75=1,3,5, 15,29
35=1,5,(,)35 125 =1, 5,29
HCF =7 HCF = 25

(e) 46 and 84 (f) 16 and 21
46 = 1,2) 46 16 =(1)2, 4,8, 16
84=1,2)3,4,6,7 21=(1)3,7,21
HCF =2

2.(a) 2/6,8 (b) 7]|7,21

2[3,4 3] 1,3
2[3,2 BEN
3[3,1
N
LCM=2x2x2x3=24 LCM=7x3=2]

(c) 39,15 (d 313,29
3[3,5 13[13, 13
51,5 R
L
LCM =3 x 3 x 5=45 LCM =3 x 13 =39



(e)

EISIS
—_—] W W W
|~
—] W] W

-

LCM =2 x2x3=12

2
5
Iy
3

10, 15, 20
5,15, 10

1, 3,

p—
(98]

b 3

—_—— NI

1’ ]‘5

Chapter 9 : Fraction

Exercise 9A

26 @
59

3x6 _ 18
5x6 30
4x6 M
8§ x6 48
66 _ 36
T10x6 60

LCM=2x5x2x3=60

1. Do yourself
2. Do yourself
3. Do yourself
4 3 5 9 6 7
4. — (b)) — (0) =— @ = () — (Hh —
9 13 17 12 18 14
Exercise 9B
1. Numerator Denominator
(a) 6 15
(b) 11 34
(c) 14 29
(d) 19 42
2. 16 () 21 (o)
21 34
3. Do yourself
4. 224 _12.3x5 15,
5x4 20 5x5 25
4 x4 16 4x5 20
(b) == ==
& x 4 32 8x5 40
© 6%4 24 6x5 30,
10x4 40 10x5 50
5. 502 _6.3x3 9
7x2 14 7x3 21

G



6x3 18
8x3 24
7x3 21
9x3 27
4x3 12
6x3 18
1x3 3
5x3 15
9x3 27
15x3 45
8x3 24
25%x3 75
11x3 33
29%x3 87

. (a) i=Q=25+5=5,3x5=15

6x2 12
(b) ==
§x2 16
x2 14
(0 X2 _ 14,
9x2 18
4 x2 8
(d) 6x2 12°
1x2 2
. _ 2
© 5x2 10°
9x2 18
® 15x2 30
8x2 16
® 252750
11x2 22
(h) =—;
29x2 58

5
4 7 28
b) L - =2
(b) s <7
10 50
() <o 70 =Iog

(©)

(e
(2

(b)

(d)
180

9 " 9
7.(a) 4 9 _ 36
8§ 9 72
4 6 24
© %6 = a3
6 12 6x30
8-@) 15730 15 %12~ 180
o 1B 9 _18x36 648
72 36 72x9 648



14 16 14 x48 672
© 7 Tk 192 N
(d) 205 25x6 150
36 6 36 x5 180
6 21 6x35 210
DN L -2 N
©) 8><35 §x21 168
14 7x63 441
O 37N " 31x18 134 O
Exercise 9C
1.(a) v (b) X (c) X d) v
2. (a) v (b) X (c) X d) v (e) X
3.(a) v (b) v () vV (d) X (e) X
4. (a) 7517(2 (b) 2)15(7
4,3 4,1
03 7 01 2
(c) 5)23(4 (@ 11)47(4
-20 3 — 44 3
03 ts 03 Y1
(e) 12)39(3
-36 3
53 1
3
5.(a) ?—5X6+3=33
5
(b) 7 ?—9><7+5=68
1
(© 35 =10x3+1=31
4
(d) 2 =11x2+4=26

9
(€) 655 =25%6+9=159

GD



Exercise 9D

8
1. (a) =LCM = 15
6x3 18 8x5_ 40 _ 6 _ 8
15 15 15 1 5 3
by 3 .9 @ 16 .19
g8 8 373
13 15
(d) 57753 = LCM =21 x 23 = 483

13 x 23 299 15 x 21 315 13 15

483 483 483 483 21 23

| 11 7 144
© 3 19 219

=LCM =2 x 19 =138

7x19 133 144 x2_ 2&3_3L<7£
38 38 38 38 2 19
7 10 20 10

D 15— ==

13 25 13 25
20 x 13 260 10 x 25 250 20 10

325 325 325 325 I3 T

2 1 9 9
@ gy O =7

15 -
16 20
15x5 75 9x4 36 15 _ 9

s = - = < —

80 80 80 80 16 20

76
25 17
7> 17 119 6 x25 150 _ 119 150

425 425 425 425 425 425

10 10 11 13
< —<<—
© 97 <3 O 5713

(c

=LCM =425

(d)




1
3.() 577778 79 7 LCM = 2520
2x504 _ 504 5x360 _ 1800
2520 2520 2520 2520
3x315 945 4x280 1120 2x360 _ 720

2520 2520 2520 2520 2520 2520

by L, 7 117

1818 18 18 18
13 15 17 11 19
(¢c) —»—»——>—>— LCM =420
13140 1820 15x84 1260
420 420 420 420
17x60 _ 1020 11x210 _2310 19 x105_ 1995
420 420 420 420 420 420
Aps, 17,15 13 19 11
7 5 3 4 2
2 7 13 15 11
2 x 15732 31464 7 x9177 64239

110124 110124 110124 110124
13 x 6118 79534 15 x 5796 86940

110124 110124~ 110124 110124
11 x 4788 52668 2 11 7 13 15

110124 110124 7 23 12 18 19

1 x 198 198 5 x 88 440

792 792 792 792
2 x 264 528 T x72 504 5x99 495

= b = b =

792 792 792 792 792 792




(b) —»—, .2, > LCM = 4680
40 15 139 10
19x 117 _ 2223 6x312 _ 1872
4680 4680 4680 4680
7x360 2520 5x520 2600 1x468 468
4680 4680 4680 4680 4680 4680
5 7 19 6 1
ANS: 593730715 10
19 11 7 5 2 19 19 19 19 19
(©) Srrmrror e (@) e
23 23 23 23 23 476 9 13 17
Exercise 9E
6 346 9
L) =+ _ -
@ 77+ 17 17 17
5 3 5+3 8
_+_: = —_—
®) 55+ 73 25 25
(C)i+£_3+17_§
34 34 34 34
g Lr4rs 10 2+3+4 9
@ 7 = © 15 15
7+3+5 15
(® 29 29
2 8
2. (a) ?JFT LCM =172
_2x9 18 8x5 40 18+40 58
45 45 45 45 45 45
1 3
b) — +— LCM =72
(b) 2 9
_Ix9 9 3x8 24 9 24 33
) T 12 12 !
© 2.3 Lem=221
13 17
_8x17 136 5x3 65 136 65 201
T 221 2210 221 221" 221 ~ 201

21



2 1 4
(d) 14 andg LCM =70
_2x10 20 1x5 5
-7 700 70 70
20,5 8 _33
70 70 70 70
7 9 4
(e) ?,Eandﬁ LCM = 80
_7x10 70 9x5 45
- 80 80 8 80
70 45 8 123
80 80 80 80
3] i+i+i LCM = 64
16 32 64
5% 4 s 7 %2 +4x1 _ 20
64 64 64 64
w2 S eg s 10,56
) 8 8 8 8

8
9 67 54 121

14
64

4 38

64

7
S T T T T I T
5 2 5 44 49
© o 2Tt T
3 1 4
() 1--+3—-+1- LCM=12
7 7 16  Tx3+7x6+16x1
42 12 12
21+42+16 79
12 12

3 5 1
(e) 4?4‘1—4‘2— LCM =40

5 8

35 10 17 _ 35x5+10x8+17x5

+
g 5 3 40
175 + 80 + 85 _ 340 _ 68

40 8
GD

64



1 7 7+12 19
4. 4+ 3=_—"—+3= = 2
@ 2 +3=p 3=y 4
1 1 43 25 18
— + = = =
(b)46 D76 6 6 6 3
2 2 [ 1
— 4+ 4 — =4 — +|3 —
() 3 2 4 G 4 G 3 2
()[i+i+i:i+i 4
5 10 9 5 10 9
Exercise 9F
. 6-2 4 b 17-2 15 3-1
@5 s Wty © T
2. (a) 2 =LCM =12
3 4
2x4-1x3  8-3 5
- 12 12 12
32
(b) <~ o =LCM =72
9x3-2x8 27-16 11
- 72 N b
11 2
— = =LCM=65
© 33773
11x5-2x13 55-26 29
B 65 T 65 65
3. 4> 3 —1oM=12
6 12
29 47 _ 29x2-47  58-47 11
6 12 12 12 12
5 5
b) 9——-4=— =LCM=16
®) 16 8
149 37 _ 149 — 37 x 2 149-74 75
16 8 16 T 16 16

GD



(c) 15_3% =LCM =4

13 15x4-13 ~60-13 47

15— — — i -0
>T 4 4 4
1 19
d12-6—=12_ "
@ 3 ~12-3
_12x3-19 36-19 17
3 -3 3
25 3 25 7
—_—— 1_ =
© <13 8 4
S 25-14 11
8 3
6L 2L _reMm=12
® 6 3
25 7 25x3-7x4 75-28 47
4 3 12 1212
4. (a) 13 %—10 =LCM =5
66 _66-10x5 66-50 16
5 - 5 5 5
3 323 15 8
N E
5
(c)|:|—10=3§
29 80-29 51
s =% =%
1 16
@6l 3L 3L 16 15 4



Exercise 9G

1. Deepa studies for 3 % hrs = % hrs

Deepa plays for 2% hrs = % hrs

16 x3-7x5 48 + 35 83

"7 — "7 hrs
15 15 15

2. Milk drank by Abhinav % I

3

Milk drank 1i [=—1
2 2

1 2
Udit drank more by %—7 =5 = 1/

3. Cold drink bought on Thursday % /

13

Cold drink bought on Friday 2% /= [

5
1 7
Cold drink bought Saturday 2? I=—51

. 1 13 7
Total colddrink bought = > + s + 3
I x15+13x6+7x10

30

LCM =30 =

15+78+70 163
30 30

4. Petrol used in bike and scooter

4il+2il;LCM=l2
3 4

)

13Jr

C13x4+49%x3 52427 79
. _

9 _
4 12 12 12
79 _10x12-79  120-79 41,

Petrol left=10-—— = — ——— =7~ "7 _
etrol le P 3 P >



61
5. Qty of oil in tin 12% l= 5 [

Oil leared from the tin 7 % /= 2l

4
ﬂ_£:61><4—30><5_244—150_ 94

5 4 20 20 20

6. Length of three pieces of ribbon

15i cm+10i cm+12i cm
7 6 8

106 63 99

__l’__+_.

7 6 g’

106 x 24 + 63 x 56 + 99 x 21
168

2544 + 3528 +2079 8151

168 168

LCM = 168

Exercise 9H

3 5
L(2) 5 x24=3x6=18 (b) - x32 =5x4=20

(b)?X7=? ) ﬁxls_Tx:;_z
5 17 17 119
(e) 2ZX14= ?X14:T x 7 :T
5 23 23
(D 2?X3=TX3—T
4 5 20 10 2 10 10
@ O T T w5
© 2x2 10 g 13,,3 DB, 17 221
13 17 221 5 7 5 7 35
7 1 46 11 506
— x2— = —X— ==
© 373725 = 13%5 65

1 3 36 41 1476
512 20,2 2800
() 5= 295 =779 = 133

GD



11 4
3.(a) 5x=c= (b) 5 x45=4x5=20

35 7
3 5 5 5

3
2 63 =3%x9=27 (d) x> — 2
(€) —=-x 63 @ =95 = 8x6 ~

1 3
4. (a) = x 100 =20 ps. (b) — x 24 =4 hours

3
(c)7x7=3days (d) —X1000—250m

Exercise 91
1. Do yourself
2. Do yourself

Exercise 9J

3 3 1 3
L@ e 2=70 =1y
4 4 1 4
T I
8 8 1 8
© g 152 15 ~ 135
6 4 6 5 30
A A T
2 9
(e) 74*7—74 5" 37 x9 =333
6 5
() 36+5 =36x=6x5=30
2. 1022912, L _T72_24
7 7 21 147 49
5 35 1 7
b) 6= +58=""x— = ___
) 6538 =T3¢ =5
2 212 1 212
30 - +35=""x—— ==
(©) 30 7 °35 T 245
@ s4. 120 15 29x3 87
5 15 5 11 11 11
© 133 . L_ 68 2 136
5 2 5 1 5



1
0 710 55 00, 1 100100

10 7055 70x11 770
Exercise 9K
4 2
. Price of one ticket = 37 = 75

Total tickets sold for = T 500

—500+§ —50041 =
—00F g =00 5s =207
Total tickets sold = 140 tickets

. Length of cloth =45 m
3
Length of cloth sold =— m

1
Cloth left = 45 x 3 = 135 =16i m
7 7
. Product of two numbers = 7i - 52
7

One number 2% = i

Other number 5—72—1 :5—le :5—2 —

7 7 17 17
. Pencil bought for =¥ 24

Cost of one penciIZ?ILZ?i
2 2
. 3
No. of pencils bought = 24 + >
2
24+?=8X2=16pencils
. Length of cloth = 300 m
3
Cloth sold = 0 m3
Clothleft=300><ﬁ=30><3=90m
2 122 7 22 3 66
6. _— —_—=—_—— = —_—— =
T T T B S T

GD

31
35



Chapter 10 : Decimals
Exercise 10A
19

7 2

85 515
(d) 0.085=— () 0.515=——

9
1000 1000 (D 0:009= oo

1000

(h) 0.045 = 1000

2.(a) 0.6 (b) 0.04  (c)0.87 (d) 0.060
(e) 0.474 () 0.300 (g) 0.015 (h) 0.009
3. (a) Zero point seven (b) zero point zero nine

(c) Five point three four
(d) Forty two point three five seven
(e) Seven hundred fifty nine point zero four
(f) Seventy point zero zero five
(g) Six hundred twelve point eight
(h) Eight point nine five four
7 5 9
4. (a) 20+3+W+W) (b) 70+6+W)
2 7 8 8
(c) 10 +4 + o+ oo+ 1000 (d) 700 +90 +4 + o0
5 5 5
5.(a) 5 ®) 7o © 700 9D 1000

6.(a) 7237  (b) 56.325
Exercise 10B

L. (a) > (b) < (©) < (d)> (e) >
() > (2) > (h) > (i) > 0 <
2. (a) 0.026, 0.36, 0.569, 0.77, 0.98
(b) 0.098, 0.198, 0.809, 0.89, 0.981
(c) 0.039, 0.0631, 0.092, 0.351, 0.891
(d) 0.05, 0.321, 0.63, 0.83, 0.93
3.(a) 0.92,0.7, 0.65, 0.12, 0.05
(b) 0.85, 0.65, 0.35, 0.15, 0.015



(c) 0.85,0.65, 0.45, 0.25, 0.02
(d) 0.999, 0.811, 0.111, 0.011, 0.001

Chapter 11 : Metric Measures
Exercise 11A

.(a) 100 (b) 1000  (c) 10 (d) 1000
(e) 1000  (f) 1000  (g) 100 (h) 10 (1) 100
.(A)4mS5Sem=1m=100cm=4 x 100 + 5 =405 cm
(b) 6 cm 6 mm to mm = 1 cm = 10mm

6 x 10 + 6 = 66 mm
(¢) Skm325mtom=1km = 1000 m

5 x 1000 + 325 =5325m
(d) 8130ml=11= 1000 ml

8 x 1000 + 30 = 8030 ml
(¢) I8 cm I4 mm tom=1cm= 10 mm

18 x 10 + 14 =180 + 14 = 194 mm
(f) 12kg15gtog=1kg=1000 g

12 x 1000 + 15=12015 g
(g) 80m I8 cmtom=1m= 100 cm

80 x 100 + 18 = 8018 cm
(h) 333 kg42gtog=1kg=1000g

333 x 1000 + 42 = 333000 + 42 = 333042 g
(1) 63414 mltoml=11=1000 ml

634 x 1000 + 4 = 634000 + 4 = 634004 ml
.(a) 6 (b) 8 (©5
(d) 3 (e) 4 (H2
. Do yourself
Exercise 11B

l.(a) km m () km m (¢ km m
52 516 384 375 45 375

+67 835 + 289 375 +30 285

120 351 673 750 75 660



(d)

2. (a)

1. (a)

(d)

(2

2. (a)

m

149 387
+ 244 276
393 663

km m
816 230

— 765 385
50 845

m cm
63

X 2

91 26
km m
22 275
X 4

89 100

[ ml
38 250

X 3
114 750

28m 64 cm +~ 4
=28.64 +4

4)28.64(7.16
—28
06
04
24
-24

X

=7m 16 cm

[ ml [ ml
© 390 230 D 149 367

+ 195 325 + 243 255
585 564 392 622

b) ke g (o [ ml
615 305 151 230

— 378 816 - 75 385
236 489 75 845

Exercise 11C
(b) m cm (¢ m cm

36 91 26 45
X 7 X 6
258 37 15870
() km m (f) m ocm
96 185 135 126
X 8 X 7
769 480 945 882
(h) kg g () kg g
21 450 85 854
x 12 x 18
257 400 1545 372
(b) 81kgl189g+9
=81.189 +9
9)81.189(9021
—81
18
-18
09
-09

X

=9.021=9kg2lg




(c) 121612 ml+6 (d) 281 km 862 m + 14

=12.612+6 14)281.862(20.133
6)12.612(2.102 “rg
-12 18
06 14
~06 46
12 —42
-12 4
X — 42
X
=2.102=21102 ml 20 km 133 m
(e) 3950 kg 592 g + 32
32)3950.592 (123.456
-32
75
—64
110
—0%
145
~ 128
179
160
igi (f) 1921800 ml + 8
~ 8)192.800(24.1
— 160
=123 kg456 ¢ B
32
08
—08
X
2411 ml



Exercise 11D
1. Qty of milk in container

Milk sold
Milk left in the container

. Weight of two heaps
Weight of one heap
Weight of other heap

. Weight of sugar
Weight of Rice
Total weight

. Distance covered on foot
Distance covered by bus

Distance covered by train
Total distance covered

. Oil taken from container
Oil spilled from container

Total oil in container
Oil taken & spilled

. Mangoes discarded
Mangoes sold

Mangoes purchased
Mangoes rotten & sold
Mangoes left

501
—321 500 ml
171 500 ml

50 kg 250 g
—-32kg 525 ¢
17kg 725 g

100 kg 250 g
+40 kg 800 g
141 kg 050 g

2km 375 m
7km 725 m
+15km 125 m

25km 225 m

21 100 m/
+ 17 200 ml/
37 300 m/

51 250 m/
— 317 300 m/
17 950 m/

Skg 300 g
+ 289 kg 400 g

294 kg 700 g

320 kg 400 g
— 294 kg 700 g

25 kg 700 g




Chapter 12 : Measurement of Time
Exercise 2A

1. (a) 8:30 (b) 2:20 (c) 11:50 (d) 5:35
2. Do yourself
3.(a) 3:25 (b) 12:55 (c) 10:50 (d) 6:45
(e) 4:30 (f) 4:50
4. Do yourself
Exercise 12B
1.(a) 6 hr =1 hr = 60 min
6 x 60 = 360 min
(b) 4 hr 27 min =4 x 60 + 27 = 267 min
(¢) 15 hrs 59 min = 15 x 60 + 59 = 959 min
(d) 22 hrs 20 min = 22 x 60 + 20 = 1340 min
2.(a) 5 hr 35 min = 1 min = 60 sec
5x60=300min (300 + 35) x 60
=335 x 60 = 20100 sec
(b) 12 hrs = 12 x 60 = 720 min
720 x 60 = 43200 sec
(¢) 2 hrs 10 min 35 sec
2 x 60 =120 min (120 + 10) x 60 + 35
7800 + 35 = 7835 sec
(d) 10 hrs 35 min 16 sec
10 x 60 = 600 min + 35 min
(635 x 60) + 16 = 38116 sec

. o1
3.(a) 936 min = 1 min = 0 hrs 60_5 2(3)6( 15
%06 =15 hrs 36 min 336
b 1045 _ 17 hrs 25 mi 32(6)
( )W_ rs 25 min 60)1045(17 _36
- 60
445
420
25



(c) 1344 min

60) 1344 (22

120
144
120

24

= 22 hrs 24 min
4. (a) 2766 sec

60)2766 (46

~240

366
360
_06_

=46 min 6 seconds

(c) 7644 sec

60) 7644 (126
—60
164
—120
444
—420
24
= 126 min 24 sec

126

E=2hrs6mln

(d) 1500 min
60) 1500 (25
-120
300
~300

X

= 25 hours
(b) 143 min 10 sec.

60)8590(143
—60
259
240
190
180
_10
% =2 hrs 23 min

2 hrs 23 min 10 sec

(d) 9585 sec

60)9585 (159
—60
358
-300
585
- 540
45
159 min 45 sec
2 hrs 39 min 45 sec




Exercise 12C
l.(a) 6am. (b)4pm. (c)7pm. (d) 12:15am.

2. (a) 8:20 a.m. = 08_ 20 hours
(b) 12:45p.m. 12 45 hours
(c) 3:15 p.m. 3:15
+12: 00
15 : 15 hours
(d) 12:07 p.m. = 12 : 07
+12:00
"~ 24:07 =00.07 hours
(e) half past 6 in the evening 6:30
+12:00

_18:00 =18:00 hrs
H 10 : 00 pm
+ 12 : 00 pm
22 : 00 pm 2200 hours

3. (a) 03:00 hours = 03:00 a.m.
(b) 10:00 hours = 10:00 a.m.
(c) 12:30 hours = 12:30 p.m.

(d) 15:05 hours = 15 : 05 pm

—12: 00 pm

3 :05 pm

Exercise 12D
1. (a) 75— 60 = 15 sec min  sec
15+ 1 (60 sec) =16 10 30
Ans. 16 min 15 sec -5 45
15 75
(b) 85 — 60 =25 sec 2 35
5 + 60 sec = 6 min +3 50
Ans. 6 min 25 sec 5 85



(c) 87 — 60 =27 sec
5+ 1 (60 sec) = 6 min

= 6 min 27 sec

(d)

66 — 60 = 6 sec

38 min + 60 sec = 39 min

19 hr 39 min 6 sec

(e)

75 — 60 =15 sec

55 +1 (60 sec) = 56 min
Ans. 17 hrs 56 min 15 sec

(f) Ans. 35 hrs 46 min 57 sec

min sec
35 40

-10 29
25 11

Ans. 25 min
11 sec

3.(a) min sec
35 40

-10 29
25 11

11 15 20
-4 20 30
6 54 50

25 25 25
- 15 35 35
9 49 50

2. (a)

(b)

(c)

b) min sec
®) 25 35

- 17 15
8 20
Ans. & min
20 sec

min sec

2 38

+3 49

5 87

Hr min sec
10 20 30
+9 18 36
19 38 66

Hr min sec
12 40 45

+5 15 30
7 5 %
Hr min sec
15 16 17
+20 30 40
_35 46 57
(c) Hr min sec
37 45 30
-18 25 15
19 20 15

Ans. 19 hrs
20 min 15 sec

sec =20 + 60 = 80 — 30
mn=14+60=74=74-20= 54
hr=11-1=10-4=6
sec=25+60=85-35=50
mn=55-1=24+60=84

84 -35=49

hr=25-1=24-15=9hr



. Travelled by bus

Travelled by train 5 hr 20 min
75 -60=15min, 9 hr + 1 + 4 hr 55 min
= 10 hours 15 min 9 hr 75 min

. 11 : 15 a.m. - starting time

1:15p.m. - end time

Program was 2 hrs long.

. Nikita reaches school at 7 : 45 am

Time took to reach school 50 min
7 : 45 45 + 60 = 105 — 50 = 55 min
- 50 7—-1=6hr=6:55

Chapter 13 Money
Exercise 13A

. (a) Rupees two thousand six and seventy eight paise
(b) Rupees three forty five paise
(c) Nine paise
(d) Rupees one hundred forty five thirty seven paise
. (a) ¥202.08 (b) X 11.05
(c) 0.06 p (d) X 8.08
. (a) 200 rs. 20 ps.
=200 x 100 = 20,000 + 20 = 20020 ps
(b) 102 rs. 05 ps
102 x 100 = 10200 + 5 = 10205 ps
(c) 540 rs. 55 ps
(540 x 100) + 55
54000 + 55 = 54055 ps
(d) 1 1s. 18 ps
(1 x 100) + 18 =118 ps
(e) 9 rupees 99 paise
(9 x 100) + 99 =900 + 99 = 999 ps



() 714 rs. & 71 ps
(714 x 100) + 71 = 71400 + 7 = 71471 ps

4. (a) ¥25.40 =25 x 100 + 40 = 2540 ps

(b) ¥ 123.29 =123 x 100 + 29

= 12300 + 29 = 12329 ps

(c) 2 673.55 =673 x 100 + 55 = 67355 ps

(d) T 1.50 =1 x 100 + 50 = 150 ps

(e) ¥79.05=79 x 100 + 15 =715 ps

(f) ¥331.14=331x100+ 14 =33114 ps

6435
5.(a) 6435 p = — - =R 6435

b) l4p= —= —70.14

13427
(c) 13427 p =

100 =3 134.27

d) 25614 —w— 256.14
() p= 100 =X .

305 93
(e) 30513—@—?305 (f) 93p—ﬁ)—?093

Exercise 13B
1.(a) 7420.90 (b) T425.37 (c) T 7294 .09

+3 344 .15 +3672.48  +3% 368.94
3 765 . 05 2 1097 . 85 3 7663 . 03

(d T1567.90  (e) T3547.42(f) R 423.72

T 355.09 33674 .49 31062 . 48

+3  67.25 +3 24.55 +% 10.19
21990 . 24 3 7246 . 46 3 1496 . 39

2.(a) T480.68 (b) =z745.60 (©)  %500.00
~339.59 ~3198.78 —3 347 .78

T 441 .09 3 546 . 82 T152.22

(d) %2000 .50 () T403.84 () T3540.70
—~324 .78 ~%19.99  —32548.34
31975.72 T 383.85 3992 .36




Chapter 14 Geometry
Exercise 14A

1.(a) 3 (b) 5 ()5 (d) 4
2. (a) Line, PQ (b) Roy XY
(¢) Line regment CD
3.(a) <ABC (b) <OPQ, <QPR (c) <LMN
4. (a) RQ, QP (b) Q (c) <PQR
Exercise 14B
1. (a) one, two (b) 90’ (c) right angle
(d) 180" (e) 360"
2. A cute right a btuse a cute a cute
3. Do yourself
4. Do yourself
5. Do yourself
6. Do yourself
Exercise 14C
1. (a) same (b) isosceles triangle
(c) equilateral triangle (d) 3, 3
(e) unequal (f) a cute
2. Do yourself
3. (a) Right angled (b) Right angled
(c) Obtuse angle
Exercise 14D
1. (a) four (b) four (c) right

(d) equal  (e) rectangle
. (a) True (b) True  (c) False (d) True (e) False
. (a) Rectangles (b) squares (c) Rectangles
(d) Squares (e) Rectangles  (f) Rectangles

W N

Chapter 15 Perimeter
Exercise 15

Do yourself






